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12 Partl: Multiple Choice. Place the correct answer in the corresponding blank at the end of this

section.
1. Determine the range of the following test scores.
History Test 1 Scores (out of 100)
84 77 66 7 —
89 84 77 65 9‘0—54:— 34\
86 82 75 65
86 81 72 61

84 79 70 @
(R ¥
B 56
(C) 90
(D) 78

2. Determine the mean of the following test scores.
History Test 2 Scores (out of 100)
95 85 72 62 —
92 84 72 59 \4 4 B ,_ﬂr’;.(\
89 80 70 52

88 78 68 40 20
85 73 67 32

_—

(A) 71.65

71.15
(C))72.15
) 70.65

3. Determine the median of the following test scores.
History Test 1 Scares (out of 100)
90 84 66

89 84 77 65 ‘:}- /}

86 82 75 65 \ J‘ ﬂv — /,L%
86 72 61 - ~

84 %) 70 56 2

(A 18
79

(C) 56
(D) 77




Erinn’s mean bowling score is 92 with a standard deviation of_14.
Declan’s mean bowling score is 130 with a standard deviation of I8.
Matt’s mean bowling score is 116 with a standard deviation of 22.
Jonas’ mean bowling score is 225 with a standard deviation of 6.
Who is the more consistent bowler?

A) Declan
((B)Erinn
C) Matt

(D) Jonas

. At the end of a bowling tournament, three friends analyzed th@res.

. The ages of participants in a bonspiel are normally distributed, with a mean of 40 and a standard deviation of 10
years. What percent of the curlers are between 40 and 507

(A) 68% 4@3 AW% 5
(B) 95%

C 16fyz
ﬁ 34%

. The ages of participants in a bonspiel are normally distributed, with a mean of 40 and a standard deviation of 10
years. What percent of the curlers are older than 60?

(A) 1.25% l\\;)(\ SY D-BQ\ O\

B) 5%

o 0% SL é Q——

© 35401 Ty
. Determine the z-score for the given value.

M =120,6=10,x =125

@ys <=NS o D

(D) -05 [0

Determine the percent of data to the left of the z-score: z = 1.44.

(A) 94.95% ‘ ﬁ Z \
92.51% DO a S

93.82% q A

(D) 95.91% N \O/b

Determine the percent of data to the right of the z-score: z = -1.96.

A) 2.50% =
§97.50% D O é‘\" = I

1.50%

(D) 98.50% | - 0.0J\RQ ~ Oc\l S



10. Determine the percent of data between the following z-scores:

z=—0.45andz=—0.15.’_ O'SDQ‘(‘ ,Jr D 4{—4’04\

(A) 76.68%

B) 44.04% — :
() 32.64% — Ol (4\ 4@
1.40% or LI /Q

11. A poll was conducted about an upcoming election. The result that 44% of people intend to vote for one of the
candidates is considered accurate within 2.7 percent points, 19 times out of 20.
State the confidence interval.

@41.3%46.7% d?‘% - Dﬁx — ‘& ( FS
TamESS 49 12T - 4 7

(D) 41.3%-44%

12. The results of a survey have a confidence interval of 56.0% to 64.6%, 9 times out of 10.
Determine the margin of error.

(A) +64.6%
(B) +16.6%

(C) +8.3%
(D) +56.0%

Answers to multiple choice.

11. 12.



21 Part I1I: Constructed Response. Answer each question in the space provided. Show all
workings.

13. An apple orchard has 32 trees with these heights, given in inches.
116 90 91 99 114 110 124 102
82 89 104 102 95 105 118 118
110 97 92 93 91 116 101 101
116 86 101 83 117 93 132 104

3 (A)  Complete the frequency table.
Height (in.) Frequency
80-90 Wl 4
90-100 G\
100-110 3
110-120 9
120-130 |
130-140 \
3 (B)  Construct a histogram and frequency polygon.
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14. Sarena keeps track of the amount she spends, in dollars, on weekly lunches for 5 weeks:

18

(B)

24 27 24 31

Determine the range, mean, median and mode correct to one decimal place.

Rﬁc 1853

me~: 4K
mtv'l.‘c\i 4

VV\\\QS\‘- a\AY

Determine the standard deviation for the data.

Data Point (x)

Data Point - Mean

(x—x)

(Data Point — Mean)?
(x = x)?

IK-4 .= -6.4




15. A teacher is analyzing the class results for a computer science test. The marks are normally distributed
with a mean, |, of 79.5 and a standard deviation, o, of 3.5.

(A)  Sketch the normal curve for the test.

oI5 ( @3¢
! —rt ,
by RS 7 RS s G

(B)  What percentage of students scored between and 76% and 86.5%

B 24 R B Y

16. A tile company produces glass kitchen tiles that has an average thickness of 71 mm, with a standard
deviation of 0.4 mm. For premium-quality tiles, the tiles must have a thickness between 70 mm and
71.5 mm. What percent, to the nearest whole number, of the total production can be sold as
premium-quality tiles?

D 0062, 0§ *4-

0 X944 — 00062,

=058E2
&%



